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ELEMENTS OF BOODE-KEEPING AND ACCOUNTANCY
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Instruction : Attempt all questions. Marks allotted to each question are mentioned against them.
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The undermentioned Trial Balance has been prepared from the books of Sr

Decembet, 2011—

|_l]nhit Balances L4 Credit Balances 4
Purchases 12,400 Sales 15,800
(Cash in hand 200 Capital 9,000
Cash at Bank 2,000 Creditors 1,540
Salary 1,600 Bills Payable 450
Tax and Insurance 400 Commission 670
Opening Stock 2,200 Interest 40
Ceneral Expenses ROD
Bad-Debts 230
Carriage Inwards 140
Drawings 380
Debtors 2,100
Puildings 4,720
Discownt 110

27.500 27,500

Prepare 8 Trading and Profit & Loss Account and a Balance Sheet on 315l Dece
in mind the undermentioned adjustments—
(a) The amount of Outstanding Salary 15

arpount of prepaid Insurance is T 50 and the amount of U

7 150 and the amount of Outstanding Tax is ¥ 50. The
neamed Commission is T 150,

(k) Make a provision of 10% depreciation on Building.
(c) Make 3% provision for Bad-Debts on Debtors.
{d) The value of Closing Stock on 315t Decem
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Here some general statements are given. Write
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(iy Bank Reconciliation Statement is an account

(ify DBank allows intere
(iii) The credit balance of Pas

{iv) Bank allows interést on overdraft.
{(v) DBank charges are debited in the Pass-Book.
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=t an credit balance of Pass-Book.
z-Book denotes overdraft.

Ram Gopal on 31st

mber, 2011 keeping
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On 30th June, 2012, there was a Credit Balance of ¥ 5,840 in the Pass Book of a businessman,

Afier reconciling with the Cash Book, the undermentioned informations were received—

(il  He had sent the cheques for collection amounting to T 750 to the Bank but out of those,
ihe cheques for ¥ 250 were credited in his account by the Bank an 4th of July.

(it} He had jssued the cheques for T 1,200, but until 30th June, the cheques for only ¥ 850
had been discounted with the Bank.

(ifi) A Bank draft for ¥ 150 had been received from a cusiomer, which had been entered in the
Cash Book, but it could not be sent to the Bank.

(iv} Bank credited T 40 as interest in his account and had charped Rs. 7.50 as Bank charges.
These were not entered in the Cash Book,

{+) He had submitted a cheque for ¥ 54 in the Bank, which was wrongly entered for ¥ 45 in
he Cash Book. But in the Pass Book, the amount of full ¥ 54 had been credited.

TFrom the ghove details prepare 2 Bank Reconciliation staternent on 30th Tune, 2012.
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What is a Cash Book 7 What is the necessity of & Petty Cash Book ? With five imaginary
transactions, prepare a simple Petty Cash Book.
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Define Bills of Exchange, and narrate its utility. What is the difference between a General Bill
of Exchange and a Bill of Accommodation.
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On 15t January, 2010 *A’ sold goods to *B? for T 1,000 and drew a Bill on him for two months,
which was sccepted by *B’, On due date the payment of the Bill was made by "B’. Make
necessary journal entries in the books of ‘A’ and B’ under undermentioned circumstances—
() ‘A’ kept the Bill with himself till the date of payment and received the payment of the Bill,
(i} ‘A’ discounted the Bill with the Bank at the rate of 6% interest per annum.

(iii) *A’ endorsed the Ball to *C’.

(iv) ‘A’ received the payment of the Bill after one month under the rebate of ¥ 5.
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What is Suspense Account 7 When does its need arise ? How does it close up 7
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What are one-sided and douhle sided errors 7 How are these rectified 7
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Give journal entries for the rectification of undermentioned errors—

(i} The purchases of furniture for ¥ 500 was debited in purchases sceount.

(i) ¥ 100 was paid to Mohan Lal as salary in Cash but it was not entered in the books at all.

(iif) ¥ 800 were spent in the repairs of Machinery, but this amount was debited in the Machinery
Account,

(iv) Goodsamounting to T 650 was purchased from Dinanath, but it was debited in his Personal
account and credited in the goods account,

(v) Bills Receivable for ¥ 500 was received from Dinesh, but it was credited in the account

of Ramesh.
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What is the meaning of depreciation 7 How far it is reasonable to make the provision for
depreciation in the books 7 If we do not make any provision for depreciation in the books, what
will be its impact in the final accounts 7
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Describe clearly any two methods of depreciation.
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On 1st January, 2011, a Machinery was purchased for ¥ 15,225, Its estimated life was

10 vears and the scrap value was ¥ 225, Prepare Machinery Account for the first five years
according the fixed instalment method.
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Note:  Answer all questions, Marks allotted to each question are mentioned apzinst them.
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Write in brief the use of the following parts of your typewriter—

(i} Scale
{(iii} Carriage release lever
{v) Tabulator bar

{ii) Ribbon indicator
{(iv) Snap off top plate
{vi] Key release lever

{vii) Escapement {viii) Type key
{ix} Margin release key (x)  Shift keys
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Give proof correction signs for any five of the following—

(i) Wrong font (ii) Change the broken type
{iii) Insert space (iv} Insert inverted comma
(v) Insert big bracket (vi) Setinbold face type
(vii} Insert hyphen (viii) Delete

clr.tall

Write full forms of any five of the following abbreviations—

{iy His. (i) Alc

{iii) Ltd. (vl M.O.

(v} PM. {vi) No.

(vil) VPP (viii) S.B.L
HeEdT (OR)

(@) Ra= ggor o v oy
(@) w9l Tsfy @7 25T F wed = uaia ot o e & 7

{a} State the method of changing ribbon, :
(b) Why is the touch system claimed to be the best system of typing 7

whte @ @ A of w0 ¥ 99sey |
‘Explain the process of cutting stencil in detail.
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What are the various methods of typing 7 Explain.
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{a) What is the importance of the bell to an operator 7 Explain.
{b) How will vou type a heading in the centre ?
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